
Glass Windshield for Vent Racing RZR CAGE 
For RZR 1K, Turbo, Turbo S, PRO XP 

(Different hardware is used depending on model) 

Hardware: 

(qty) 

  4   1.75" Billet Clamps (Black) 

  4   1/4"x 2" Bolts 

  4   1/4”x 1/2” Bolts (Bottom Bolts for no tabs) 

  2   1/4"x 3/4" Bolts (Top Bolts on RZR 1k/ Turbo/ Turbo S Only) 

  4   1/4"  Flat Washers 

  2   1/4"  Spacer  (Top Mount Spacers for RZR 1k/ Turbo/ Turbo S Only) 

  1    48"  Piece of edge trim (small) 

  1    44"  Edge Seal 

  2    L brackets for bottom mounts  

       (optional hardware if cage has welded tabs) 

Step 1:  Install rubber edge trim on top and bottom edge for  

protection during install and use. (use smaller trim on top edge). 

Trim may need to be cut to length. 

Step 2. Clip the billet mounts into approximate  

positions onto roll cage as shown in picture. Use 2"  

long bolts to hold clamp in place. Only tighten 

Bolt enough to hold clamp in place but still 

moveable. (if you have tabs welded 

to your cage you will not have lower Clamps.  

You will use the L brackets included.) 

Step 3.  Place windshield on cage and clamps. 

move clamps to line up with holes on windshield 

frame.   

On RZR1K, Turbo, Turbo S Use .25” Spacer and ¾” long bolts 

on the TOP mounts only, and ½” bolts on bottom mounts. 

 

On RZR PRO models use 1/2” long bolts on all 4 mounts  

without spacers. 

If using the L brackets, bolt them on with the top cage bolts. 

Step 4.  When windshield is in correct position,  

tighten the 2" long bolts on the clamps to lock 

them into position.  You can leave the clamps 

on the roll cage if you take off the windshield 

to keep the same position when re-installed. 

 


